Name:____________________				Date:____________________
Review Sheet Proportional Relationships Review Sheet
1. Solve the following proportions. 
= 			= 			= 



2. Whitney earns $206.25 for 25 hours of work. How much does Whitney earn per hour?  


b) At this rate, how much does Whitney earn in 30 hours?
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3.
a) Which rocket is traveling at a proportional speed?___________

b)How do you know ? 
________________________
________________________

c) What is the constant of proportionality of that rocket?




Determine whether the set of numbers in each table is proportional.  If the table is proportional, determine the CONSTANT OF PROPORTIONALITY!
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5. A grocery store has a 20% markup on bottle of soda.  The bottle of soda costs the store $1.25. Find the selling price. Round to nearest cent if necessary.



	Markup=_________________		Selling Price =_______________

 6. A pair of boots are $94.99.  They are 25% off. With this discount, what is the sale price? Round to nearest cent if necessary.




	Markup=_________________		Selling Price =_______________
7.  A 20-ounce box of cereal is priced at $3.80, and a 36-ounce box of the same cereal is priced at $6.45. Which box is the better buy and why?

Work:


Explain your reasoning:________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

8. A tree outside my house is 9 ft tall and has a shadow that is 12 ft long. If a bush nearby is 4 ft tall, how long is its shadow? (Hint: Draw a picture)




9. Are the following figures in proportion? If so, determine the scale factor between the following figures. (Hint: New over old)
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Determine whether the setof numbersin each table s proportional. If the table s proportional,
determine the CONSTANT OF PROPORTIONALITY!
1.[cookies [ 6 [9 [ 12 [ 15 2. Population (100,000) [ 1.3 [2.1[ 33 |52
Cupcakes | 4 |6 | 8 | 10 Years 1234
3.|Mmiles | 43 | 88 | 129145 4.[Trading Cards 16 [ 32 [ 48 | 64
Hours | 1 [ 2 | 3[4 Packs 2[ale]s
Questions Answered | 8 | 16 [ 30 [ 42 6. Cups of Juice 5 [15[25]45
Minutes 2[8 1520 Gallons of Punch | 2 [ 6 [10] 18
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2) Which rocketistraveling ataproportionsl speed?
Howcanyoutell?

5) Whatisthe constant o proportionalty of that
rocker?

) Ater ow many seconds are the rockets atthe
same height? How can youteI” How high re they?
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‘Write the ratio of jumping jacks completed to time in simplest form.

15 _3 30 _3 40 _ 4 55 _ 11 65 _ 13

10 2 20 2 30 3 40 8 50 ~ 12

The rates are not equal. So, the number of jumping jacks is not proportional to the time.

Exercises
Determine whether the set of numbers in each table is proportional. Explain.

1.| cookies 6|9 15 2. | Population (100,000) | 1.3 |21 | 33
Cupcakes | 4 | 6 10 Years 1 2 3

. | Miles . | Trading Cards
Hours Packs

. | Questions Answered . | Cups of Juice
Minutes Gallons of Punch

. | Pounds
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